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1. £ AABCth . B41AB=8 . £C=45 . /B=15" . KBCHER A ?

(A)8 (B)2\5 (C)4/6 (D)5V3

2. CHIPRERy=3Ry=0 BRI QRERy=6=y=4 B

B KEZPQHIRIERRBD ?
(A)3 (B)4 (C)5 (D)6

3. DB x,y & 2x—3y=4 + Kax*+3y’ FUE/MERE ?

(A)4 (B)6 (C)8 (D)12
4. ®EE2 BD WEEE6 - Ha
B AIESrmEso?
(A)-4 (B)-2 (C)3 (D)4

5. % a- bRIEEE - 2%0log,a=11 * log,b=13

N SUIERE 1A 2
(A)12 (B)13 (C)23 (D)24
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DI ?
(A)72 (B)85 (C)88 (D)92
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7. EAE 1+2x)"WERINP - ¥ IRINERESRIBGRERsE - SKIEE
EnERM ?
(A)5 (B)6 (C)8 (D)10

8. BRI 7 BHENPEIR 4 ADBITIE I - Eobr - ERHASED
S EBHSINE - HPPRRELS - ZFNBHS - HERHAES
DIERBRTE ?

(A)488 (B)520 (C)560 (D)620

O. iimftBAE NHEEN4UEEE UL S - ZEIEtte APEEIASN
tEE - ABEFRAFTBEEETBELENERLSM ?
(A) 2/5(B) 3/4 (C) 3/5 (D) 4/5

10.BMUBHYARNEREM M EEED FRHFE  (WENSERY
DRME  y=vot—49t* SPUEW 588 ARNEEENEER
0] 3578 - Sl FESEAER 98 ARMNKBEFZ I ?
(A2 (B4 (Q6 (D)8

11. 35 T 5B o 7 4 (B E e
(i) #a,b>0 Blva+b—2vab=+a—b
(i) V3+V14 <4 ++13
(iii) RE[3x — 7] < SWRER LG EER16/3
(V) a+i22fa-t=2 HbahEH
SR A 4B 2 E R ?
W1 (B)2 (O3 (D)4

12. 58 N3P E R o A 24 & [E hie?
(i) ﬁﬁﬁﬁﬁﬁﬁ’ﬂgﬂ(m 0 m nREH)  mEBHEH
(i) RaBEWBEE - Bl a(a? +3a +3) + 1T AHBEL
(iii) a ‘bAREE - Qla+bAEEH < a-bEFEE
(iv) 5%a ‘bBEE - Fa+bV3=0 Bla=b=0
A1l B)2 (O3 (D)4
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13. " REHSf (x) = x* —4x + kE-2 < x < INSHEANBER/NME-1 - 5
Bkt NI ESEEA?
(A) k=35 (B) 25<k<35 (C) -1.5<k<25 (D) k<-15

14. 5%a ' bBx%2 —-3x+6=02_18 » ii>ka® + b3 =7
(A)7 (B)3 (C) -5 (D) -9

15. EFMf(x+y)=f)+f(y) —xy—1 - Edbx,ye R Hf(1)=1"-
BEA ZMMEBAREn ESf(n) =n?
(AL (B2 (O3 (D)4

16. “RAEN2x < x?2 — 3B A?

(A) -3<x<1 B)x<-3o0orx=1 (C) -1<x<3
(D) x<—-1orx=3

17. Ha B8 - H2a + 12[R3a — 3 - RlaWFB DI BEER%(E?
(A5 B4 (O3 (D)2

18. B41FEIZA(5,3) - B(3,1) * €(1,3) - k=BT A ABCZHE -
(AV4 (B)6 ()8 (D)12

19. EFlx +2y+3z=7 " K(x—1)?+y? + (z— 1)’HE/NERMA?
3 4 6 7
(A) Ner (B) v (®) T (D) o
20. Hsinx X tanx = 2 #3Kcosx =?

(A 1-v2 B)V2—-1 (O —vV2-1 (D) V2+1
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22. Dk >0 - BEGV2x —y+ k = 08B x? + y> — 2x — 2y — 1 = 048
t) . Blk=7?
(A)4—-v2 (B)3-v2 (C)2—-+v2 (D)v2-1

23. /NESHZM 5 HRIKEE - B855HBE 300 Tt - 28 S5EER
HELE1/4 BGOKELE3/4 - BSEEGERTBILEAY - EB—15
BE 1200 H—m AR RAIM - FE/NEFRENIERR
% Z2VRE 2600 TR S /D?

(A) 15/1024 (B) 1/1024 (C) 1/256 (D) 1/64

24. EAABCH - AC=3 BC =6 +C =120° BIBC =7
(A) V49 (B) V55 (C) V63 (D) V72

25. A =sin200° * B = cos200° : C = tan200° ° FA{aI& 1 EfE?

(A) A>B>C (B) C>B>A
(C) C>A>B (D) A>C>B
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